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FeO(s)Na(s)

O(s)NaC(s)

(s)LiAlHL/STP

(s)LiAlH-:g.mol, H=, Li=Al=

(g)(s) + HLiOH(aq) + Al(OH)O(l)+ H(s)LiAlH

Fe

NaOH(s)III

-g.mol:, H=, O=Fe=O(l)(aq) + HOFe

(s) + NaCl(aq)FeCl
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(g)ON

ON-:g.molH=,, N=O=;

(aq)(g) + HON

-:g.mol, H=, C=O=O+ HOHCOHHCOOH + CCH

MAZX

-:g.mol, Ba==S,=O

(aq)(s) + AlClBaSO(aq))(SO(aq) + AlBaCl

g
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SOH

gg
-:g.mol, H==C,=O

O+ HHCOOCCHOHHCOOH + CCH

nOHC

kg-:g.mol, O==C,=H

(g)O) + HsC()s(nOHC

II

NO

STP-:g.mol, O==N,=H

O(l)+ H(g)(aq) + NO)Cu(NO(aq) + Cu(s)HNO

(g)NO(g) + O(g)(g) + ONO

-:g.mol, O==C,=H

OH(aq)HCO (l)(g) + HHC

-:g.mol=C,=H

CH)H(C
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OFe

(g)OC) +sFe(CO(g)(s) +OFe

CO
-:g.mol, Fe=, Ca==O,=C

II

II

-:g.mol, Cu=, Cl==O

O(l)+ H(aq)CuClCuO(s) + HCl(aq)

+Fe

II

III
-:g.mol, Fe=, O==H

+ NaCl(aq)(s)Fe(OH)(aq) + NaOH(aq)FeCl

SFHFSCl

SO

(g) + NaCl(s)Cl(g) + SSCl

+ HF(g)(g)SOO(l)(g) + HSF

HF
-:g.mol, S=, Na=, F=, O==H

SOO

nHC

(g)+ COO (g)H(g)(s) + OnHC

HCHCHCHC
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ppm

-:g.mol, Ca=, S=, O==C

(s)SO

(g) + CaO(s)CaCO

X

YZ

NiTi

HFNaFSiONa

O(l)(aq) + NaF(aq) + HSiFSiONa
-:g.mol, O=, F=, Na==Si

III

III

(g)Fe(l) + CO(s) + C(s)OFe

(s) + Fe(l)OAl(s)OAl(s) + Fe
-:g.mol, Fe=, Al=, O==C
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)(CHHC)(CH

))CH(CH)CH(CHCH(CH)(CHCH

-:g.mol, Cl==C

STP
-:g.mol, C==H

CNOSiPS

AsSeBrNaMgAl

FeOONa

STPFeO
-:g.mol, Fe=, Na=O=

:a:c:g

:c:f:a

:f:e:b

:b:d:c
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HCl(aq)-:g.mol, Mn=O=

O(l)(g) + H+ Cl(aq)MnO

(llC

-:g.mol, Br=, C=H=

Kr

A

X

M

l=

SONa

(aq)BaCl-:g.mol, Ba=, S=, Na=O=

(s)NaCl(aq) + BaSOBaCl(aq) +SONa

-:g.mol=C,=H

CHCH

-:g.mol, Br==C,=H
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AE

GD

XDG

Z

DA

GE

ZX

O(l)(g) + HCO(g)OH(l) + OH(I) C

O(l)(g) + HNaCl(aq) + CO(s) + HCl(aq)CO(II) Na

ISTP

COIII

CONa

-:g.mola=N,=O,=C,=H

ADEM

AEM

EMD

AM+D

Al=DE

n+l
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STP

-l.Lom

-:g.molAg=,Mg=

XZ

Z

X

CH

CHCH

CHCH)C(CHCHCH

)CH(CHC CH)(CH

CH

CHCH

OCr)(NH

O(g)H+(g)N+(s)OCr(s)OCr)(NH

)-lo:g.mCr=,O=,N=,(H=

)C(CH)HC(CH)(CH
-lo:g.mO=,=, CH=
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sp

O(l)(g) + H(aq) + NOSOH(aq)(I) S(s) + HNO

O(l)(aq) + NO (g) + H)Cu(NO(aq)(II) Cu(s) + HNO

(g)NONO(g)

-:g.mol, Cu=, S=O=,, N=H=

CH

HC
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DA

E

YMG

X

X

DE

DAE

GA

MY

)-lo:g.mO=,=, C(H=

O(l)(g) + H(aq) + OOHC

CH
-lo:g.m=, CH=

MX

M(s)CuO(s) +O(s) + Cu(s)M(g)(aq) + HMg(s) +

(g)MOH(aq) + HHM(s) +NaX(s)(g)Na(s) + X

(l)BrH(g) + BrHC
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kJ(g) +NH(g) + HHN

HOH(g)HCO(g) +

-kJ.mol

(aq) + HI(aq)PO(s) + HPI(s)PI

HI(aq)-g.mol:=I,=P

Q = mc

Q <

H(g)(g) + HHCH

kJ-H=O(l)H(g) +COO(g) +HC

kJ-H=O(l)H(g) +O(g) +CH

kJ-H=O(l)H(g) + OH

kJ-H=,)aq(SOH(g) + HSO

SO

C-K.-gJ.c
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Bi(s)ml

(aq)+Bi-:g.mol=N,=;O

O(l)+ H)g(NO) +aq()Bi(NO(aq)HNO) +s(Bi

H

gC
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H

CH

CHCH
HCHCHCHCHCHCH

CHCH

CH
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(g)Cl(s) + NCl(g) + ClNH

(g)NCl

(g)Cl

Cl(s)NH

NO

(g)CO(s)CO

H

H

BaO(s)gC

)lO((s) + HSOBaO(s) + H
-.K-J.g=OHC

kJH= +(g)  ,BaSO

kJ-H=(aq) ,SO(g) + HSO
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gCgC
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(g)(s) + HOFe(s) + H

Fe(s)

(s)OFe

O(g)H-mol.s

(s)OFe

-:g.mol, Br=, O==C,=H

II

I

ISTP

kJ(g)(g) + SO(l) + O(I) CS

kJ)l(OH(g) +N) + Og(NHI)I(

II
-:g.mol, S=, N==C,=H

H)l(OH(g) +HCN(g)O+(g)CH) +g(NH

O = OC NO HC HN H

CO

(g)COO(l)H-:g.mol, O==C,=H
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CO(s)OCaC

)lO(H(g) +CO) +aq(CaClClH+cab
-:g.mol=CO

s) , (mol)COn() , (mol)COn()-, (mol.s)=COR(

×

×/

×

×/
×

×

××

××

ONHC

J
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kJH = +HCl(g)      ,(g) +SOO(l)(l) + HSOCl

kJ-H =(g)                          ,PCl(g)Cl(s) +P

kJ-H =(l)                     ,POCl(g)(l) + OPCl

kJ-H =O(l)        ,H(g) +Cl(g)HCl(g) + O

(l)POCl

(l)POCl(l) +SOCl(g)Cl(g) +SO(s) +P

AD

AD

(g)ADD) +g(A

OH

(g)O(l) + OH(l)OH

t(s)

)-] (mol.LO[H

(g)CH(g)H+C(s,
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kJkJ

CO
-:g.mol, O=, C==H

H HN HN NN N

(g)NHNH(g)H(g) +N×

-Lmol.

AED

CoCo-Co.-J.g

STPCO

H-kJ.mol--:g.mol, O=C=

CoCo

-Co.-J.g-:g.mol, O=C=

kJH =O(g)  ,H(g) +CO(g)O(g) +CH

-:g.molC=,H=

II
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kJ=oHO(l)  ,H(g)(g) + OH

kJ+=oH(aq)  ,OH(g)O(l) + OH

kJ+=oH,(g)(aq) + HOHC(aq)OHC

oHO(l)H(aq) +OHC)(aqO(aq) + HOHC

-:g.mol, O=C=

(g)HCO (g) +O(g)(g) + HCH

t(s)

][CH
-mol.L

(g)A(g) + B(g)AB

SiO (s) + C(s) Si(l) + CO(g)

C H (g) + Cl (g) C H Cl (g)

Fe O (s) + C(s) Fe(s) + CO (g)

CH COOH(l) + C H OH(l) CH COOC H (l) + H O(l)

CoCo

-Co.-J.g

HkJ+-:g.molO=
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(g)O)

H(g)H)

O(g) + HO(g)O) N

O(g)H(g) +HO)

(g)HO(g) + N) H(g) + N

HN=O

KClO-mol.s

(g)OKCl(s) +KClO

O

A

A

A
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AD

aD-.molJk+

kJAD

AD

Co

kJH = +(g) ,O(g) +HC(s) +(s)OHC

kJ-H =,OH(l)HC(g)O(g) +HC(s) +

kJH = +,(g)C(s) + O(g)CO

H(g)OC+OH(l)HC(s)OHC

-:g.mol, O=C=,H=
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-:g.mol, O=C=,H=
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CoCo

CoCoCo

-Co.-J.gc =
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HO(l)H(g) +N(g)O(g) +NH

FeOkJH =O(l) ,Fe(s) + H(g)FeO(s) + HFe

O=ON NO HN H

(g)(s) + SOOAl(s))(SOI) Al

(s) + Fe(l)OAl(s)OII) Al(s) + Fe

(s)OAlIIII

(s))(SOAl
-:g.mol, S=Al=,O=

II(s)OFe

SOI

I

-:g.mol, O=N=,H=

kg-C°.-J.gC°kg
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ON(g)(g) + ONO(g)ON

)-] (mol.lO[N
-.min-mol.L×

(g)NO-.s-mol.L

(g)O-.h-mol.L

(g)ON

kJ

COkJ

C°kJ

- kJ

II

-ol:g.m,Zn=,Cu=
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kJH =HCl(g) ,(g)(g) + ClH

kJH =HCl(g) ,(g) +BCl(g)Cl(g) +HB

H =(g) ,H(s) +BOHO(l)H(g) +HB

HHCl(g)(s) +BOHO(l)H(g) +BClkJ

(g)BCl
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CH

OH

OHHC

OHHC

OHHC

OHHCOHHC

HC = CC HC

CnCHCH= CHnCH

O
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-:g.mol, H==C,=N

g

-:g.mol, H=, C==N,=O

)HC = CH(CH

HC

CH

H

NH)(CHNHNHCH

COOHCHNHCOOH

C

C
-:g.mol, O==C,=H
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ab

cd

nONHC

C-g.mol, M=OHC

K-g.mol, M=OHC

CCO

AA
-:g.mol, O==C,=H

OHA + CHO+ HOnHnC

OHCOHC

OHCOHC
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COOH),   HOOC(CHNH)(CHNH
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CHC = CHH

CH = CHHC

)= C(CHCH
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